FMCSC-205F-HYD-304

TOP AIR - 48809
FAST - 48834

Advantage

REF.# | PART NUMBER EDP # | DESCRIPTION REQ.
1 BAC-53 41110 | Pipe plug 4
1 41120 41120 | Pipe plug, stainless steel (optional) 4
2 7AC-14-FLG 41530 | Volute, 300 standard flange x 220 full port flange 1
3 BAC-23-A 40391 Nut, 3/8” NF, cad plated 1
3 BAC-23-A-SS 40392 | Nut, 3/8” NF, stainless steel (optional) 1
4 BAC-24-HYD-SS 40400 | Washer, 3/8” star, stainless steel 1
5 BAC-26-200-P 40434 | Impeller, with extended keyway, thermoplastic 1
5 BAC-26-200-Cl 40433 | Impeller, with extended keyway, cast iron (optional) 1
5 BAC-26-200-SS 40436 | Impeller, with extended keyway, 316 stainless steel (optional)| 1
6* BAC-4A 40005 | O-ring, body seal 1
7 BAC-7SC-205V 40149 | Seal, silicon carbide 1
8 BAC-14-205-HYD 40338 Mounting frame for 205 pump 1
9 40950 40950 | Cap screw, 3/8” NC x 3/4” hex head 4
10 41330 41330 | Cap screw, 5/16” NC x 3/4” hex head, motor to pump 4
11 BAC-54 41130 | Slinger 1
12 BACH-33 40820 | Snap ring, internal, BAC-14-205 mounting frame 2
13 BACH-32-HD 40835 Snap ring, external, BAC-6-205 shaft

14 40880 40880 | Ball bearing, sealed, BAC-6-205 shaft 2
15 BAC-25 40425 | Key, 1/8" x 1/8” x 13/16”, extended keyway 1
16 BAC-6-205-HYD-SS 40068 | Shaft, extended keyway, tang, stainless steel 1
17 S305 40163 | Seal support spacer for 205 series pump 1
18 BAC-75-HYD-304A 41388 | Hydraulic motor, 13 GPM, 1/2” NPT ports 1
18 BAC-75-HYD-304A-12SAE | 41426 | Hydraulic motor, 13 GPM, #12 SAE end ports (optional) 1
* RK-FMCSC-205 52705 | Repair kit for FMC-205 pump with silicon carbide shaft seal -
# RK-BAC-75-HYD-300-L 41362 | Repair kit for 300 Series hydraulic motor -



http://www.riverbendind.com

